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Note :

ECONOMICS
PAPER - 1II

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

Consider the following statements :
I. According to Keynes, as income rises, lower proportion of income.is_spent on
consumption. f

II.  According Kuznets, as incomes rise, the average propensity to save remains fairly stable
and constant.

Of the above which statement(s) are correct. | [
(1) Both I and II are true (2) Neither I nor II are correct
(3) Only Iis true (4)  Only I is true . .
g1 -
2. If Marginal Propensity to Consume (MPC) is equal to"Average Propensity to Consume (APC)
for all levels of income (Y), the correct Corresplcyfﬁing cohsumption (C) function will be :
f i
(1) C=a+bY 2 C=a+% /3) c=by (4) C=bY?2
| |
3. Transfer payments by the government are not 1nq{flded in the net domestic product
because : —
(1) These are gifts from the goverfiment to the recqﬁents
(2) They are not counted as c dities
(3) No corresponding prodtlchoh of goods and services has taken place to match such
payments
(4) There may be leakages in such payments
4.  Phillips curve sets upfa relation between :
(1) Taxes and. inflation |
(2) Inflation and unemployment
(3) - Moneysupply and aggregate demand
_(4) Price and cost of production
5. = If economy is opl.ratilglg at potential GDP, an increase in money supply will lead to :
(1) - Stagflation (2)  Structural inflation
(3) g Demand—plull inflation (4) Cost-push inflation
6. Inlthe long sum, the transitory consumption will :
(1) "y Be infinity
(2) * Remain unchanged
(3)  Decline but will remain positive
(4) Be zero
ST T
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7.  According to Keynes, investment demand depends on which of the following two factors ?
(a) Rate of interest (b) Income of the consumer
(c) Marginal efficiency of capital (d) Marginal propensity to consume
Answer from the codes below :
1) @and(d) (2 (Mand(d) (@) @and© (@) () and(d)
8.  For the demand function D=P(p) and supply function S=S(p), the excess demjand, brings
about market equilibrium in which of the following situations ? / 4
m g0 @ P o TR0 @R
9.  Consider the following statements. y { _
(a) Profit maximization by a producer. /-‘4 | P li
(b) Cournots” duopoly equilibrium. / |
Which of these are appropriate examples o‘lf Nash equ;'hbrlum ? Answer from the code
below : f
(1) Only (a) @ onydy
(3) Both (a) and (b) (4) Neither (a) nor’"(lb)
4
10. In which of the following maljkéﬁsiltgations /forms, firms are able to maximise profits ?
(1) Price leadership __k - (2) Cartel
(3) At the kink point (4) Monopolistic competition
11. Consider the followiﬂlg fac}ors in determination of wage :
(a) Demand for and supply of labour
(b) - MRP of labour = Marginal wage
/(©)  MRP of labour= Average productivity of labour
(d) MRP= sz?agel' wage
Which of the above are true ? Answer from the code below :
Hr@and®) @ @md@ ) @ad@ @) @and(@)
12. Inll'*thl_e context of a straight line demand curve touching both the axes, which one of the
following is correct ? The demand is elastic :
(1) below the mid-point (2) above the mid-point
(3) at the mid-point of the curve (4) throughout the length of the demand curve
oans [NV AN ‘
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7. *9 % ER frow win frAifed # | 5 § wRel W el st §2
(a) =S (b) YN HT 3T
(c) TSIt =t HHid FIe (d) YN Ht "G yga
freifrd I H A ST
(1) (a) 3 (d) (2)  (b) 3 (d) () (@) 3R () 4 (3R
8. T ®a D=P(p) 3R MYfd we S=S(p) & faw mwin aﬁwﬁmﬁﬁmwﬁ%ﬂw
gffyea & €2 d »
1) dip) >0 (2 d EI()P) <0 @ di—;p) =0 (4) .r d(]jl()p) [
9. fIeifha woMi W foamR =it 4 J'i' f
(a) T ScUIEeh BRI A9 HETHIAI f.»f
(b) AT T SRR T
TTH 9 R Y W T ST e § 2 H“I%EFQTFQ ﬁ'ﬁﬂ%“re?r{%ﬁ
(1) faf (a) f
(3)  (a) 3R (b) A (4 T ( a) T Fiy(b)
10. fr=ifea # ¥ fvg 9R ﬁ%rm‘f/q{m‘;ﬁ TH ST T ?:Fr TEAHRT T U S 2
(1) 3 g LY . (2) WA (Cartel)
(3) forper foig » (4) UHITRRE gfaeasi
11. m@%ﬁa‘r{mﬁﬁwﬁﬁammﬁaﬂﬁ
(a) 9 I HiTBR aqv{f%f
(b) 9| I TS ST, — < B Al
() Wﬁ@@jﬂqﬁ = 97 HI ST ScAEHA
[ (@) Tmem. _%ﬁm B Ll
SRR IR g g? T fumuFd §# 4 | <
(1) = () 3 (b) CANC 3R (d) () () 3R () 4) (@) ¥ ()
12, 3 el 1 T A T U e v A i w3 wed § freied § 4 w9 e 87 7 dreer
T
(1|) T fig F A (2) wHA fag & IW
% & 7 fag W (4) YOl AN Tk HT AaE T
HIHHIHIHHHH\II\|||HH||\|H|\III||HH|H\||||\|\|H|\ s
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13.

14.

15.

16.

17.

Slutsky equation deals with decomposition of :

(1) price effect into substitution and income effects

(2) goods into superior and inferior goods
(3) goods into necessities and luxuries
(4) consumer and producer surplus

A discriminating monopolist will charge a higher price in the market in whigh" the price
elasticity of :

(1) demand is greater (2) supply is smaller {
(3) supply is greater (4) demand is smaller f §
Inclusive growth objective was given for the first time in which Plan of India®?

(1) 9t Five Year Plan (2) 10t Five‘Year Plan (

(3) 11th Five Year Plan 4) 1/2.9‘ Five )r’ear Plan

Match List - I with List - IT and select the correct an\swer from the codes given below :

List - I List - II
(a) Backward and Forward linkages (i) n Neumann model
(b) Turnpike theorem 5, (if) Uflbalanced growth
(c) Organic composition of Celg'ltak (i) Marxian model
(d) A.K. Production Functlogn (iv) Endogenous growth model
Codes : -
@ (b) (9 ()
W 6 G )y vy
@) @) G 6@ 6 |
@) @) @ G @)
(4) (i) @(v)® (i) ()
4

Which among th Ifoll(r)wing variables/factors are used in Constructing Human Development

Index of India ?
(a) = Life expectancy at birth
(b) Real GDP per capita
(c)ll't Morbidity
Select the correct answer from the codes given below :
(1) A:ll the three above (2) Both (a) and (b)
(3) Both (b) and (c (4) Both (a) and (c)
oans [[ 1111 I\IIHI\ :
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(1) eI 9919 &l gfaemad oiR o1 g 8
(2) aERN I Iepw iR frg aegei A
(3) TGl I eTevaarel IR faenfad §
(4) uviET SR 3cueA AfHR
14. & fa9STHs THITYHRAE S8R § S Jed TR s fores
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/ :
16. e - 1 G - 11 & ghfer aﬁ?ﬂ%ﬁqmiﬁ 14 W I T
el - 1 ”j el - 11
() T &R ST sfEa () = ZEE A
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(d) T SARA Hed _k - (iv) iastia Hgfg Aled
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@@ (b) ()" (d).
O @ @ @) )
(2) () (v) | (3 @)
(3) () (@) i) ()
@) @) @v) (i) @)
17. m%mﬁwuﬂ@rwmﬁﬁmﬁ@mvﬁﬁﬁ/mmmﬁww%?
(@) S % Y St g
(b) s i st T TN 31e (GDP)
(c), T
a1 fou g e A A wE S A ¢
(1) 3w o () (a) ¥R (b)
(3) (b) () 4) (@) ¥R (o)
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18.

19.

20.

21.

22,

Which of the following is credited with introduction of LPG model of economic development
in India ?

(1) Dr. C. Rangarajan (2) Dr. Montek Singh Ahluwalia
(3) Dr. Amartya Sen (4) Dr. Manmohan Singh

Which one of the following models explains the paradox pertaining to rural-urban migration

in the context of rising urban employment ? -
f

(1) Solow model (2) Lewis model p
(3) Vakil and Brahmanand model  (4) Todaro model {
{ r
In Harrod model of growth, if warranted rate of growth is below the natural rate of growth
then it is possible to maintain steady state growth with : : - F
(1) Continuously increasing unemployment . & { (
(2) A constant rate of unemployment /.-4' 1
(3)  Continuously decreasing unemploymerﬁ . I_'
(4) None of the above [ \ J

Report of Task Force on the Implementation of Fiscal Responsj,bﬂity and Budget Management
Act, headed by Kelkar Committee su.ﬁgests some po1rrts given below :

I.  Fiscal deficit to be abolished bx 2008 09.

II.  Revenue deficit should tie f percent of GDP.

Which of the above statements given above is/are correct ?

(1) OnlyI . (2), OnlyII (3) BothIand II  (4) Neither I nor II

-

|

(1) transactions in the share market

f
Tobin tax is a tax on :

transactions in the money market

)
) F
(3) transactionj in the commodity market
)

(4) transactions in the foreign exchange market

23. Budget incidence refers to :
(151 The effect of both government expenditure and tax policies on the distribution of income.
(2) ‘j'. The effect of government expenditure on the allocation of resources.
(3) The effect of tax policies on the distribution of income and wealth in the private sector.
(4) None of the above

oans [NV AN 8
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18.

19.

20.

21.

22.

23.

oans [ I

IRa H Mo Gafg & To.d.sh. diea & Jadq &1 99 f7= o 3 fod fean s 82
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L
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24. In case of deficit budget, when the deficits are covered through taxes, that budget is called :
(1) unbalanced budget (2) surplus budget
(3) balanced budget (4) None of these
25. Match the following :
List - I List - II e
(a) Fiscal deficit (i) Revenue and interest receipt minus revenue expc?diture
(b) Revenue deficit (i) Revenue receipts and recovery of loans and other receipt
minus total expenditure plus total borrowings
(c) Budgets of deficit (iii) Receipts minus disbursement in capital account
(d) Capital deficit (iv) Total receipts and tofal disbursements
Codes : /_/ ' »
@ ® © @ [\ |
o 6O 6@ @
@ @ 6 @ G \,/ |
@ @) @ @ 0 i e
4  Gv) @) @ (D) "‘ -
<l
Vi <
26. Efficiency requires that the®production of pure public goods be undertaken to the point
where ?
(1) the sum of the !:Enarginal private benefits is exactly equal to the marginal social cost of
production.  ° {
(2)  the marginal private benefit is exactly equal to the marginal social cost of production.
(3) the maljgi%al social cost exceeds the sum of the marginal private benefits.
( (4) None of th%abb,ve.
27.  Which of the following pairs is not correctly matched :
(11 Rekhi Committee Simplification of export and import procedures
(2)Ik o Nanmjundappa Committee : Railway fare
(3)  Rangrajan Committee Balance of payments
(4) Goiporia Committee Banking service improvements
oans [N AN 1
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24.

25.

26.

27.

oans [ I m
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28.

29.

30.

31.

32.

Consider the following statements :
I.  The Repo rate is the rate at which other banks borrow from the Reserve Bank of India.

II. A value of 1 for Gini Coefficient in a country implies that there is perfectly equality in
income distribution.

Which among the above are correct ?

(1) IIonly (2) Tonly (3) BothIandII  (4) Neither Inor II
f
Retail Banking is to provide banking services : { ’
(1) only to individual customers in an integrated manner { [
(2) entirely to agriculture sector only 4
(3)  only to self-help group for their survival *, f
(4) None of the above N |
»

A7
Labour market reforms aim at : r_"' - .Ju'
(1) Job security (2) ’ Minirr%x ‘wage
(3) Labour market flexibility (4) Employiment insurance

A f
an - Dhan Yojna Concerns : |
J j </
(1) Credit Y1 (2 Tax payment
(3) Bank deposit

(4) Insurance premium
Which of the followiﬂlg se;f does not represent the features of Indian labour market ?
(1) disguised unemployment ; lack of skills ; lack of mobility.

2 disguisédﬁmemployment ; perfect mobility ; lack of skills.

4

(2)
¢ (3) disguised dhemployment ; migratory labour ; perfect mobility.
(4) f

poverty ; ill .terarcy ; Homogeneity

The' Geometric mean of four numbers 2, X, 16, 32 is 8. What is the value of X ?

33.
1), 2 (2) 4 3) 6 4) 8
34. If meaIr1=28 and mode =25, the value of median will be :
(1 27 (2) 29 3) 24 (4) 25
o-onss [N ANI] 12
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28. Trfafed sweAl W foa=m &1 :
I TR 9 X BN W o= 9% 9rdE fied 9% 9 SuR o )
1. et g # fif qonies & faw 1% qoa =1 ffemd 97 § f o foaeo o qofaen wwmd 2|
SR H | HF-91 T Q2
(1) a1 2) HEd I () IRIIIHA 4) AVIARTE I
29, U T FreAfaten § @ fraen ST T g w82 /.
(1) wafRd 1 H had Tha TN f »
(2) viqEn B & B
(3) had W-HEEd HHE! &I TR SaLStedl o faT e
4) ST F Y B & , & L
/_.4 P
30. o9 ISR GUR %1 AT T :
(1)  USFIR T et 2) :{ﬂn aﬁw
(3) 9| SISIR 1 THIATIA (4)
31. mmaﬁwﬁw&rﬁwﬁﬁmﬁﬁaﬂ%
(1) = Vo ¢ @ wymm
(3) o S - (4) o fifm
32. ﬁmﬁrﬁ@ﬁﬁ@aﬁ?—mﬁmﬁaﬂmﬁa%wﬁﬁ@wﬁ@ﬂﬁm%?
(1) 9= SUSHIRI, RIS 1 SN, Tfaeiieral i HH]
(2) © o SIS, qOf TIiaRiierd], shiviel i SAHTE
/(3 Wéﬁzzf W{:ﬁ g, 01 Tfefterdr
(4)
33. =R Hers 2,x,h6,32wwﬁﬁhmws%l X 1 e 1§ ?
1, 2 2) 4 3) 6 (4) 8
34. 3fc H1ET =28 T Fgash = 25, 1 AfEAHT 1 JoI BT :
1) 27 2) 29 (3) 24 4) 25
oous [[ {11 TN 1
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35.

36.

37.

38.

39.

40./

1
If the probability of solving a statistical problem by A is i and by B is 3 when a problem is

given to them, probability that the problem will be solved is ?

1 7 1

2
M ® 13 ®) 1 @ 3

Type - I error is defined as : ¢

(1) Reject Null-hypothesis when it is false. {
(2) Reject Null-hypothesis when it is true. [ 4
(3)  Accept Null-hypothesis when it is true.
(4)

4)  Accept Null-hypothesis when it is false. - r

e
1 ;

Given that \[xy = 0.6, o0y =50, 0x=10, X = 30 /ﬁ’ld Y =140 ; the correct regression of Y on

Xis given by : ..*'Ilr . I-I

(1) Y=50+3X 2) =‘Y=11ﬁ+0’.6x
(3)  Y=140+3X @' Y=14 J/3x

Which one of the following is not a n&e%hod of sampliI(‘ug ?
(1) Systematic sampling X ¢ (2) Quotasampling

4

(3) Snowball sampling __ (4) Large sampling

Growth in software f?dustry in India can be best explained by :

(1) Porter’s approach | (2) Ricardo’s approach
(3) Vernon's approach (4) Bella Balassa’s approach
o

a
The form of multF commodity terms of trade is most closely related to :

(1) Laspeyre’s index number

(2) _ Paasche’s index number
(3) Edgworthl- Marshall index number
(4)'1, Fisher’s index number
v
41. If the fi)reign offer curve has an unitary elasticity, then the optimum tariff will be :
(1) unity (2)  infinity (3) zero 4) -1
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35. Afc A g fordt 9ieashia U39 &l €6 hid i Wifgehd] %HWBW%%,HW%W?E%H%%E
F & fau fean s ], 9 3@ o1 w1 wfaear F=0 ¢ % 9 5 & S ?
W 5 @ = 6 5 @ >
36. <Y -13fe = frafafed § @ fvw v § uRenfya foean mon 7
(1) TSR Y- IReFeqAT 96 g TTerd | £ s
(2) STEHR Y- URGTI el I8 Tl ¢ | | [
(3) TNFR J-IReeT 59 7 T8 2|
(4) THR IJE-IRFHA 9 I Td € | "li_
37. A [Jxy =06, 0y=>50,0,=10, X =30 asmy}émo ?ﬁ;WYWEﬁWWW@Hﬁ'@
-1 g :
(1) Y=50+3X Y= 11‘#) 6X
(3) Y=140+3X Y= 140 3X S
¥
38. freAfafed § @ #H- mﬁavhwqﬁa;(qgﬁ%7
(1) et free N @ wu e
(3) weta fgel ! (4) 9eq free
39. Wﬁamémsﬁﬂéqﬁ;iaﬁﬁmﬁr@ﬁﬁ@%{ﬁm I3 <1 9 afviq foran < ket ®
(1) T Célbdchl | (2) et 1 gfeahi
s WWW (4) S SAH HT gkl
40. - Wwajmﬁ%mﬁw%ﬁaﬁﬁ@mﬁwﬁwﬁw%
(1)~ dFdreR ‘eh‘rl  GETED (2) U H GIAFIR
3) LSERIE: NGRS CEaED (4) TFIR &1 YEH®
41. wﬁéﬁmwﬁmm%ﬁmw@n:
(1) T (TF) (2) T G) I= 4 -1
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42. An overvalued Indian rupee in the foreign exchange market will have which one of the
following consequence ?

(1) Make imports cheaper and exports costlier

2) Make imports costlier and exports cheaper

(2)
(3) Give protection to domestic industry against foreign competition
(4)

Will improve balance of payments

Ty

43. Which of the following issues were not addressed in Urugvay Round ? e
(1) Migration (2) IPRs (3)  Services 4) { Taritf r

44. The terms of trade refer to :

(1) The excess of import expenditure over export earnings |

(2) Trade agrument between two nations »
(3) The ratio between export and import pnices |'
(4)

The terms and conditions on which a countsy 1seoffered loan in the event of BOP

difficulties ‘j

45. ‘Plan Holiday’ in Indian planning is iflentlﬁed with t 'pe‘ri(;d ;
(1) 1966 - 69 (2) 1979 %1 (3) 1985 -87 (4) 1991 - 93

#.

ik i
Introductions : In the question mumber 46 to 50, two statements are labelled as Assertion (A)
and Reason (R). In the context of two statements, which one of the following is

correct : =
(1) Both (A) and (ﬂ) aré {true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) - (A) is trug, (R) is false.
(4)

(R) is true,?A) is false.

46. Assertion (A) : Pareto optimality criterion cannot be used alone to measure welfare level of
| the people.

Reason (R) : The concept Pareto optimality fails in case of externalities, public goods
\ and missing markets.

47. Assertion (A) : APC can never be zero while it can be greater than 1.

Reason (R) : Consumption expenditure is always positive even if income is zero.
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42.

43.

44.

45.

foeft qa1 fafrm aem & stfmeifea TRde €03 &1 frafafaa 5 § SF-91 gamE g 2
(1) I g% g, Frafa e g S |

(2)  ATa Hem grm, fafa g & S |

(3) =Rel zEm i fagelt faerai @ Heaw firam

(4) T Fger § R ET

F&d R g # frefafad § @ SF-3 g8 1 9o T8 e w2

(1) wa=H 2) dfsF Hoer AfeEr (
(3) T (4) T ‘

SR i 361 o1 A9 fefafea § 9 fred 2 1,

(1) frafa o 9 frafa =3 & efue - |

() TS ¥ e SR W A\’

) /
(3) Trafa iR omd wiwdl & ot egua [/
)

(4 aﬁﬁTWﬁ?WWWEﬁWW%ﬁWEﬁWﬁWWW%

AR Frise o s ereenre’’ fog :ﬂafa TwR: (
(1) 1966 - 69 ) 197% %‘1 (3) 1985 - 87 (4) 1991 - 93
L

ARV : YT WA 46 W50 H méﬁ(A)aﬁ'{W(R)ﬁ?Wﬁ?ﬁEW%QW%I S woHl

46.

47.

Hed A frfafaa § @ s-T wEr g -
) (A) S (R) ST FE T (R), (A) F1 T FEHTT T
) (A) 3R (R) ST W& Elae (R), (A) 1 € TRt T R
3) (A)WEE, (R)naa%|
) (R)ERI g, (A)W%|

fireRe (A) : Lﬁ%wwﬁmﬁ%m R TNEI i STIFETA! HHIST i & STAN &
e < gear B

T:FITUT(R): | TR STl 1 IoId, FTRIAISH, FrasTah aequ SR SIS o "Hel § Tha
\ Tl B |

ARTRET (A) : S ST T F o Y T B Tt 9@ A 1 At B w3
HTT (R) : YR 4T THIN A &l © 9t & 319 4 2 |
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48. Assertion (A) : The endogenous growth theory examines production function that shows

increasing returns.

Reason (R) : There is specialization and investment in knowledge capital.

49. Assertion (A) : On a bell shaped curve ; the value of mean, median and mode would be

identical.

Reason (R) : There is no skewness in such a curve.

/

50. Assertion (A) : Competition Act of 2002 came into force and MRTP A{:t was repealed.

Reason (R) : MRTP Act was too restrictive and curtailed fair competition in the market.
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48. AMURIT (A): iaeia Gafg Fagma SR Herd F1 TleTo wid § S Sed gu gfawe
GRS

THIT (R) : T Sl H faeroean 1R fere g 2 |

49. ATIRIT (A): R T H WieA, ARt AR TgTH W B |
HIT (R) : 39 YHR F ok | fawgar 7 et | 6._'
50. 3AMURYT (A): 2002 T Yfqeqet sifafTad gumel gon oIk wa. R, sifufem srﬁ\w’r?qﬂ gl
| ( f
WHIT (R) : TR, stfufram sreafus faframes o ok zo@ TSR 3 wofaa gfaeast o

FHHT T | '
-o0o / ¢ < . |
/ . .’I
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